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Question Number : 1 Question Id : 36496350051 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): A child learns to walk at 11 months while another learns to walk at 15 months.
Reason(R): Development occurs at differing rates in individuals.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 1 Question Id : 36496350051 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 36496350052 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Development is dependent upon
(i) Genetic make up

(ii) Physical Environment

(iii) Socio-cultural factors

Choose the correct option.
Options :

1. (i), (ii)

2. (ii), (iii)

3. (i), (iii)

4. (i), (i), (iii)

Question Number : 2 Question Id : 36496350052 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. (D), (i)

5. (i), (iii)
;. (i), (iii)

4. (D), G, (i)

Question Number : 3 Question Id : 36496350053 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Make-believe play blossoms and supports all aspects of psychological development in-
Options :

1. Infancy

2. Early childhood

3. Middle childhood

4. Adolescence

Question Number : 3 Question Id : 36496350053 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 36496350054 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an agency of primary socialization of children?
Options :

1. Books and magazine

2. Media

3. Religious institutions

4. Family

Question Number : 4 Question Id : 36496350054 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 36496350055 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A 5 year old child fails to reason that when water is transferred from a tall and narrow glass to a

wide container the quantity of water remains the same. According to Piaget, this is because-
Options :

1. She cannot reverse her thinking

2. She cannot do goal-directed behaviour

3. She cannot symbolize

4. She cannot imitate

Question Number : 5 Question Id : 36496350055 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 36496350056 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

According to Lev Vygotsky, create our cognitive structures and modify our thinking process.

Options:

1. rewards

2. cultural tools
3. schemas

4. cognitive conflict

Question Number : 6 Question Id : 36496350056 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 36496350057 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of these factor plays an important role in cognitive development according to Lev Vygotsky?
Options:

1. Language

2. Maturation



3. Organization

4. Equilibration

Question Number : 7 Question Id : 36496350057 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 36496350058 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Discussions in groups and positive teacher-student relationships characterize a-
Options:

1. progressive classroom.

2. textbook-centric classroom.

3. behaviouristic classroom.

4. teacher-centric classroom.

Question Number : 8 Question Id : 36496350058 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 36496350059 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a child-centered classroom students-
Options:

1. do not have much role in their own learning.
2. are active constructors of knowledge.

3. are looked upon as blank slates.

4. passively imitate the teachers and follow her.

Question Number : 9 Question Id : 36496350059 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 36496350060 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Individuals reason that- ‘Right action is defined by self-chosen ethical principles of conscience’ in

Kolhberg's stage of-

Options :

1. Good girl-good boy orientation

2. Social contract orientation

3. Social order maintaining orientation

4. Universal ethical principles

Question Number : 10 Question Id : 36496350060 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 36496350061 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Individuals who have the ability to understand the motives, feelings and behaviours of others to

bond with them are high on______intelligence in Howard Gardner's theory.
Options :

1. naturalistic

2. interpersonal

3. intrapersonal

4. spatial

Question Number : 11 Question Id : 36496350061 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 36496350062 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

As children enter the school-

Options :

1. They should be allowed to speak in their mother tongue since expression is important.
2. They should be fined for not speaking in the language of the school.

3. They should be told categorically that school has a different language and they should not

speak in their mother tongue at all.

4. Their parents should be told to use the language of the school only at home.

Question Number : 12 Question Id : 36496350062 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 36496350063 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Boys are often gifted cars and mechanical blocks while girls are gifted dolls and drawing supplies



to play with. This inappropriate practice illustrates-
Options:

1. gender constancy.

2. gender equity.

3. gender bias.

4. gender empowernment.

Question Number : 13 Question Id : 36496350063 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 36496350064 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

How should a teacher respond to young children talking out loud to themselves (self-talk)?
Options :

1. Discourage it because it promotes egocentricism.

2. Discourage it because it is distracting for the child herself.

3. Encourage it because it facilitates self-regulation.



4. Encourage it because this ends teacher’s responsibility.

Question Number : 14 Question Id : 36496350064 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 36496350065 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about questioning in the class is not correct?
Options :

1. Main focus of asking students to answer questions is to test them.

2. Asking analytical questions helps students to think critically.

3. Students should be encouraged to ask questions in the class.

4. Questions that promote analysis and application foster higher-order thinking skills.

Question Number : 15 Question Id : 36496350065 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



freAfeTiEe o & -1 Y= e & e B o Sed e T8
Options :

1 feremfelat & w47 o 37 ToA Eakitez TEIT ITHT T AT 2

, T3 e 4 USH Tt i @eTeres =ad 3 9a8 e g

; Tt =t e 5 74 U5 % o, wieTte e =)

) TE T4 S ferlet ST ST O ST B, Foea-400 25 (i pierett o1 g o o

Question Number : 16 Question Id : 36496350066 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Inclusive education requires:

Options:

1. Inculcation of competition among students

2. Inflexible curriculum and rigid school calendar

3. Reasonable accommodation as per students’ needs

4, Strict teacher-centric pedagogies

Question Number : 16 Question Id : 36496350066 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 36496350067 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following learning disability impacts the ability of hand-eye coordination, balance and

manual dexterity?
Options :

1. Dyscalculia

2. Dyslexia

3. Dysphasia

4. Dyspraxia

Question Number : 17 Question Id : 36496350067 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 36496350068 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

For the successful inclusion of students with visual impairment, a teacher should:
Options :

1. Add verbal explanations to anything pictorial in surroundings.

2. Give handwritten notes to these students.

3. Only use blackboard for teaching content.

4. Place them in a separate section of school.

Question Number : 18 Question Id : 36496350068 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

< R 35 e T o o e 8, o e e R
Options:

| ATETE F1 et | ¥ SiigsF ST e

5 T Terateat & exatearad ﬂ'\lﬂ;‘ﬂ z|

5 b e, YR B ™ = . A, o/ 5, g
; Tosa 1 Ue o o7, el cTehalls 1 T it 4|

. Sféfﬁc-i_vr:‘m’um AT HoRTd | STRgeT 2

Question Number : 19 Question Id : 36496350069 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

For the successful inclusion of students from Tribal communities, a teacher should avoid:
Options:

1. Bringing up examples from their everyday lives and surroundings.

2. Giving importance and respect to their socio-cultural context.

3. Including folklores and songs prevalent in their culture in curriculum.

4. Teaching concepts totally irrelevant to their lives.

Question Number : 19 Question Id : 36496350069 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

R o -

SIS a6 (ol o Wbt FATeT 3 70, O STTAFeT 01 7 o ¥ (o el =)

Options :

1 35 ook STae 37T UiEsT | SSTET0T STTH 3T

5 ST WTHTISToh- AR o WY ol Hew S FH7 1)

[ ~ ~ =z S .
O Tt STeRTET 271 et =1 3= 00

| T H IR S5

. ﬁ@ﬁﬁﬂmmﬁaﬁm?%ﬂuﬁw STITETTS 2

Question Number : 20 Question Id : 36496350070 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a correctly matched pair of appropriate accommodation strategy for

inclusion of students with the specified disability?
Options :

1. Attention Deficit Hyperactivity Disorder-Show long-duration movies



2. Autism-Stick to same schedule as much as possible
3. Dyscalculia-Give questions based on complex computation

4. Speech impairment-Accept only oral form of assessment

Question Number : 20 Question Id : 36496350070 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 36496350071 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): Teachers should involve the students in decision-making and encourage active

participation in the classroom.
Reason (R): Learning is transmitted directly from the teacher to the student.

Choose the correct option.
Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).



2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 21 Question Id : 36496350071 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

SAVERI (A - ToTeeet 1 TR 79 3 v o STt ST ST, SR T H 136 Ty o Seiees e
gl

FOT(R) - AT 168 3T ferel o e e o ST )

T et

Options :

. (A) & (R) THT T2 £ A1 (R) HET SAT&AT AT 2 (A)

1

(A) ¥ (R) ZHT & & SR (R) WET =T TE 2 (A)

2

3 (A) TE 2 o1 =T (R) o1 2

4 (A) ¥ (R) T 7T

Question Number : 22 Question Id : 36496350072 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Children construct new knowledge on the basis of:
Options :

1. what is already understood and believed by them.
2. what is ambiguous and irrelevant for them.

3. what is completely alien and foreign to them.

4. what is extremely beyond their current cognitive level.



Question Number : 22 Question Id : 36496350072 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 36496350073 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements regarding learning in social context is not correct?
Options :

1. Communication and interaction are important for learning.

2. All learning is undertaken by individuals in their own heads.

3. Students come to school with a lot of understanding that comes from their culture.

4. When students work collaboratively to assist one another, their learning is strengthened,

reinforced and refined.

Question Number : 23 Question Id : 36496350073 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 36496350074 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following factor is responsible for students’ failure?
Options :

1. Decontextualized curriculum

2. Multiple means of representing content

3. Student-centric activities

4. Consideration of individual differences

Question Number : 24 Question Id : 36496350074 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 36496350075 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Effective learning requires______involvement of learner.
Options :

1. active

2. docile

3. partial

4. passive

Question Number : 25 Question Id : 36496350075 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 36496350076 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Metacognitive skills-

Options :

1. regulate thinking and learning.

2. do not impact cognition and problem-solving.
3. are based on mere memorisation of content.

4. represent delay in cognitive development of students.

Question Number : 26 Question Id : 36496350076 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 36496350077 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following statements about errors is correct?
Options:
1. Student’s errors plays no role in the process of learning.

2. A teacher should eliminate error-making behaviour of students using rewards and

punishments.
3. Errors can be turned into meaningful learning by discussion and analysis of them.

4. Students are not capable to find-out and correct their errors themselves.

Question Number : 27 Question Id : 36496350077 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 36496350078 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Learning and information processingare___
Options :

1. significantly influenced by emotions.

2. not related to emotions.



3. negatively impacted by positive emotions.

4. positively impacted by negative emotions.

Question Number : 28 Question Id : 36496350078 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 36496350079 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A student is reading books to satisfy her curiosity about certain concepts.

This is an example of:

Options :

1. Approach-oriented mastery goals

2. Avoidance-oriented mastery goals

3. Approach-oriented performance goals

4. Avoidance-oriented performance goals

Question Number : 29 Question Id : 36496350079 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 36496350080 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The central focus on National Education Policy 2020 is on-
Options :

1. Rigid curriculum, pedagogy and assessment.

2. Multidisciplinary and holistic education.

3. Learning towards and for exams.

4. Adoption of summative methods of assessment.

Question Number : 30 Question Id : 36496350080 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 31 Question Id : 36496350081 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Dinu starts his spice business. He buys 10 kg turmeric powder, 8 kg red chilli powder and 15 kg coriander
powder. He makes small packets of 20 g of each of the spices. How many small packets of spices he
prepares to sell?



Options :
1. 2100

5 1850

3. 1650

4. 1975

Question Number : 31 Question Id : 36496350081 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 2100
2 1850

3. 1650

4 1975

Question Number : 32 Question Id : 36496350082 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The chart shows the height and weight of five teachers of a school :

Name Height Weight
Radhika b feet 4 inches 55.5 kg
Aman 5 feet 10 inches 67 kg
Vineet 6 feet 1 inches 72.5 kg
Kavita b feet 2 inches 60 kg
Rohini 4 feet 10 inches 45 kg

Which of the following statements is correct?
Options :

1. Vineet is longest but his weight is less than Aman
, Rohini’s height is 6 inches less than Kavita's height

3. The sum of Radhika and Vineet's weights is less than the sum of Aman and Kavita's weights.

A Rohini’'s weight is %th of Kavita's weight.

Question Number : 32 Question Id : 36496350082 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 36496350083 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The perimeters of two equilateral AABC and APQR are 15 cm and 30 cm respectively. Which of the
following statements is correct about their interior angles?

Options :
1 Each interior angle of A ABC is less than each interior angle of A PQR.

, Each interior angle of A PQR is half the each interior than angle of A ABC.

3 The interior angles of A ABC and A PQR are equal

4. Each interior angle of A PQR is double the each interior angle of A ABC

Question Number : 33 Question Id : 36496350083 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 36496350084 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Amongst the following shapes , the shape (s) that will look exactly the same on a half turn is (are) :
Equilateral Triangle, Square, Rectangle, Parallelogram

Options :
1. Only Square

» Square and Rectangle
3. All Shapes except equilateral triangle

4. Only Equilateral Triangle

Question Number : 34 Question Id : 36496350084 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 36496350085 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The average of five consecutive natural number is 15. What is the sum of the first and last numbers
Options :

1. 27

2 30

3. 31

4, 33

Question Number : 35 Question Id : 36496350085 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T R TR SEATST! 3T ST 15 2
Options:
1. 27

2. 30



Question Number : 36 Question Id : 36496350086 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Bishal uses 30mL of cooking ol at a time. He cooks three times a day. How much oil he will use if he cooks

for 4% months? (Take 1 month = 30 days)

Options :
1. 10 L 250 mL

5> 12 L 250 mL
3. 10L 150 mL

4. 12L 150 mL

Question Number : 36 Question Id : 36496350086 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1. 10 L 250 mL

5, 121250 mL



3 10L 150 mL

4. 12 L 150 mL

Question Number : 37 Question Id : 36496350087 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

On a holiday, Mary wakes up at 9:00 am and eats lunch at 2:00 pm. Which of the following angles are made
by the hands of her clock respectively at the above two times?

Options :
1. Acute Angle, Right Angle

, Right Angle, Straight Angle

3 Obtuse Angle, Right Angle

4. Right Angle, Acute Angle

Question Number : 37 Question Id : 36496350087 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 36496350088 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rekha learns to make a cube using paper folding. She makes 12 cubes each of a side 10 cm. Now she
needs a hig box to keep all these cubes. What should be the volume of the big box so that all small cubes
can be keptin it without leaving any empty space?

Options :
1. 7200 cm?

5> 10000 cm?
3. 12000 cm?

4. 14500 cm?

Question Number : 38 Question Id : 36496350088 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 72000 cm?

, 10000 cm3



3. 12000 cm®

4. 14500 cm3

Question Number : 39 Question Id : 36496350089 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Kerla Sampark kranti Train departs from New Delhi Railway station on 301 October 2021 at 13:10 and
reaches Kochuveli on 15! November 2021 at 3:20. The total travel time of the journey is :

Options :
1. 41 hours 20 minutes
2 39 hours 40 minutes

3. 38 hours 10 minutes

4. 36 hours 10 minutes

Question Number : 39 Question Id : 36496350089 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 36496350090 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the difference between the largest and smallest of the following numbers?
1010, 1101, 1001, 1011

Options:
1 111

, 110
3. 101

4. 100

Question Number : 40 Question Id : 36496350090 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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1010, 1101, 1001, 1011

Options :
1. 111

5 110

3 101



4. 100

Question Number : 41 Question Id : 36496350091 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the next number :

2.1,

Pa |
e | =

Options:

| =

o | b3

Question Number : 41 Question Id : 36496350091 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 36496350092 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The rate list of fruits is given below :

Fruit Price per kg
Apple ~ 135
Banana T 60
Mango RiD
Orange T 50
Guava X 45

Which of the following is NOT correct?

Options :

1. Price (per kg) of banana and guava together is more than the price (per kg) of mango.
», Orange’s price (per kg) is three fourth of mango’s price (per kg)

3. Price (per kg) of banana and mango together is equal to the price (per kg) of apples

4. Apples are three times costlier than guava’'s

Question Number : 42 Question Id : 36496350092 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 36496350093 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The value of

244 x 5-90 +~ 5- 255 X4 is
Options :
1. 20

5 12,5



4 18.8

Question Number : 43 Question Id : 36496350093 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
244 % 5-90+5-25.5x 4 FTAFE?

Options:
1. 20

5 125

[

4 18.8

Question Number : 44 Question Id : 36496350094 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What should be subtracted from the sum of 99090, 90990 and 90099 so that the result will be 250,0007

Options :
1. 28179
> 280179

3. 30179

4. 301790



Question Number : 44 Question Id : 36496350094 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
90090, 90990, 90099 = AT H & =T =AT ST fof TRUMH 250000 TTH &1

Options :
1. 28179

, 280179

3. 30179

4. 301790

Question Number : 45 Question Id : 36496350095 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

25 millions can be written in Indian Number System as -
Options :

1. 25 crores

2 2 crores 50 lakh

3. 25 lakh

4. 2 lakh 50 thousand

Question Number : 45 Question Id : 36496350095 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 36496350096 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following could NOT be a contributing factor towards underachievement in Mathematics?
Options :
1. Socio-cultural background

2 Teacher's beliefs about the students

3. Language of instruction

4. Gender differences

Question Number : 46 Question Id : 36496350096 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 36496350097 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

As per NCERT which of the following is NOT one of the expected leaming outcomes from grade Il learner?
Options :
1. Prove that 1/3 is the same as 2/6.

5 |dentify the next letter in the sequence A,D,G,

3. Ifabus can carry 40 children then how many children can 3 buses carry?

4. Show that 2 x 3 is the same as 3 x 2

Question Number : 47 Question Id : 36496350097 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 36496350098 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the most appropriate strategy for a teacher to use in an introductory class on
division?

Options :

1. What is the meaning of "10 divided by 2

5 IfItry to divide 100 books among 3 people, how many books will be left with me?
3. How much work will be completed in a single day if a person takes 10 days to complete a task?

Your mother has nine pencils. She wants to distribute them equally among you, your brother and your sister.
4. Howmany pencils will you get?

Question Number : 48 Question Id : 36496350098 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 36496350099 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

One of the major reasons for student's failure in Mathematics at school level is that our assessment process:

Options :
1. gives more weightage to formative assessment than summative assessment

includes more subjective questions than objective type questions

emphasizes on testing procedural knowledge and facts than mathematisation of thinking and abilities of a
3. child

emphasizes on problem solving than on recall based questions

Question Number : 49 Question Id : 36496350099 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 50 Question Id : 36496350100 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mr. Raju wanted to build ‘number sense' in his Grade 3 students. Which of the following activities can BEST
help?

Options :

1. Taking a jar of marbles and asking students to guess how many marbles are there.
5 Asking students to climb up a set of stairs counting one number for each stair.

Asking students to estimate how many students are there in their whole school based on the number of
3. Classes.

4. Giving building blocks and asking students to construct a number as hundreds, tens and ones.

Question Number : 50 Question Id : 36496350100 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 36496350101 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of these exercises will be most appropriate to show if your students have built the skill of 'estimating
unknown quantities'?

Options :
1. Add two given numbers mentally and give an approximate answer.
> Measure the length of the table using an inch tape.

3 Guess the approximate distance from the earth to the sun.

4. Come up with the likely number of children in your colony.

Question Number : 51 Question Id : 36496350101 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 36496350102 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a mathematical process?
Options :
1. Optimization

2 Rote memorisation

3. Visualisation

4. Comparison

Question Number : 52 Question Id : 36496350102 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 36496350103 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mr. Javed is introducing the concept of multiples. He has planned three learning activities:
|. Write multiples of 2 on the blackboard and relate them to a real life example.

[I. Explain that multiples are formed by skip counting of a number

[II. Take a lot of 2 rupee coins and make stacks of 1 coin, 2 coins, 3 coins, efc.

Help him order these activities in the most appropriate sequence to build the concept well.

Options:
L LI

5 I,

g I,

2 L1

Question Number : 53 Question Id : 36496350103 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 36496350104 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following preparatory activities is MOST suitable, BEFORE teaching the concept of area?

Options :
1. Asking students to superimpose 2-D shapes and compare the sizes
5 Asking students to find the perimeter of various shapes

3. Asking students to divide a 2-D shape into smaller equal pieces

4. Asking students to count the number of unit squares in a 2-D shape

Question Number : 54 Question Id : 36496350104 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 36496350105 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

"The sum of any two whole numbers is a whole number", This property of whole numbers is referred to as :
Options:

1 Closure property

» Distributive property

3. Commutative property

4. Associative property

Question Number : 55 Question Id : 36496350105 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 36496350106 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
According to National Curriculum Framework (NCF) 2005;

Options :

Narrow aim of teaching mathematics is to teach numbers and number concepts and higher aim is to teach
1. measurements.

> Narrow aim of teaching mathematics is to teach precise calculation and higher aim to teach calculus

Narrow aim of teaching mathematics is to develop numeracy related skill and higher aim is to develop
3. problem solving skills

Narrow aim of teaching mathematics is to develop mathematical language and higher aim is to solve word
4. Problems

Question Number : 56 Question Id : 36496350106 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 36496350107 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a Mathematics classroom, emphasis should be on
Options :

1. Only mathematical content

» Mathematical processes and reasoning

3. Solving mathematical problems

4. Formal mathematical algorithms and processes

Question Number : 57 Question Id : 36496350107 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 36496350108 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Maijority of students in a class says, 360 + 55 is equal to

360
+55

3115

Revisiting which of the following concepts will BEST remediate the misconception?
Options :

1 Addition with regrouping

, Forward counting

3. 3-digit addition

4. One to one correspondence



Question Number : 58 Question Id : 36496350108 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 36496350109 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is NOT true?

Options:

1 Mathematics is a discipline with mostly abstract concepts

5 There is just one correct way of approaching the solution to mathematical problems



3. People who cannot read or write also have mathematical knowledge

4. Most of the sub-branches of mathematics are inter-connected

Question Number : 59 Question Id : 36496350109 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 36496350110 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which among the following names is associated with a model of geometrical development that describes the
levels of geometric reasoning in children?

Options :

1 Jean Piaget

> Michael Cole

3. Van Hieles



4. B F Skinner

Question Number : 60 Question Id : 36496350110 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 1
Sub-Section Id : 3649632905

Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 36496350111 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The distance between New Delhi Railway Station and Lucknow railway station is 504 kilometers.
This distance is covered by a train in 7 hours. The average speed of the train in meters per second
is

Options :

1.72

2.40

3.36

4.20

Question Number : 61 Question Id : 36496350111 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 12

2. 40



Question Number : 62 Question Id : 36496350112 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A child at X wants to play with her friend who is located at Y. For this she first goes 40m due-south
to reach at O. After this she goes towards due-east and reaches at Y after covering a distance of

30m. The distance of X from Y and the direction of X with respect to Y are respectively-
Options :

1. 50m; North-west

2. 50m; North-east

3. 70m; North-east

4. 70m;North-west

Question Number : 62 Question Id : 36496350112 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1 90 m; IUTgH

50 m; 39L-9d

2. S

"

70 m; 399

70 m; el By

Question Number : 63 Question Id : 36496350113 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Select from the following the true statement about sloths.

Options:

1. Sloths live for about 40 years and in that time they move around 50 trees.

2. Sloths live for about 10 years and in that time they move around only 8 trees.
3. Sloths live for about 40 years and in that time they can move around 8 trees.

4. Sloths live for about 8 years and in that time they move around 40 trees.

Question Number : 63 Question Id : 36496350113 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 64 Question Id : 36496350114 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Excess cutting of forests can lead to the following possibilities-

A. Nearby areas will be cooler



B. Percolation of rain water will be reduced

C. Run off rain water will carry away soil

D. level of ground water will increase

Choose the correct option.
Options :

1.Aand B

2.Cand D

3.A,B,Cand D

4.BandC

Question Number : 64 Question Id : 36496350114 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
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, C#HRTD

5 A,B,C#RD
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Question Number : 65 Question Id : 36496350115 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

On the map of Golconda Fort printed in the class V textbook, 1cm distance is equal to a distance of
110m on the ground. On this map, the distance of Patanncheru Darwaja from Fateh Darwaja is

15.4cm. On the ground the minimum distance between the two would be-
Options :

1.16.94 km

2.15.40 km

3.1.694 km

4.1.540 km

Question Number : 65 Question Id : 36496350115 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 16.94 km

2 15.40 km

3. 1.694 km

4 1.540 km

Question Number : 66 Question Id : 36496350116 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The three neighbouring states surrounding Mizoram are-
Options:

1. Assam, Bihar, Chhattisgarh

2. Bihar, Chhattisgarh, Assam

3. West Bengal, Arunachal Pradesh, Assam

4. Tripura, Assam, Manipur

Question Number : 66 Question Id : 36496350116 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 36496350117 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which of the following States/Union territory Of India , the Village Council of forests on the hills
hold a special meeting and through a lottery decide which family will get how much land that year

for farming?
Options :
1. Ladakh

2. Mizoram



3. Arunachal Pradesh

4. Jharkhand

Question Number : 67 Question Id : 36496350117 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 68 Question Id : 36496350118 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Mount Everest is a part of
Options:

1. Tibet

2. Nepal

3.India

4. China

Question Number : 68 Question Id : 36496350118 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 69 Question Id : 36496350119 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify a reversible change from the following:
Options :

1. Preparing a coating of Plaster of Paris(POP)
2. Preparing molten wax

3. Preparing paneer from milk

4. Preparing Bio gas from cow dung

Question Number : 69 Question Id : 36496350119 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 36496350120 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following characteristics features of the roots found in different trees/plants.
A. Look like hanging branches of the tree but are actually its roots

B. The length of the root is about 30 times the height of the tree

C. Roots providing strong support to the tree like pillars

D. Roots storing food materials

E. Hanging branches grow and reach deep under the ground

The features found in the roots of Banyan trees are-
Options :

1.A,CandE

2.A,B,CandE

3.A,Cand D

4.A,BandE

Question Number : 70 Question Id : 36496350120 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
. A CHRE

, A,B,CHRE

3 A, C3¥RD

4 A B¥RE

Question Number : 71 Question Id : 36496350121 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements given by a student:

"I have come from a place which is a hilly area. At our place it rains heavily and snows as well,

when it is cold we like to sit in the sun. Our houses are made of stone or wood".

This student must be from.
Options :

1. Tinsukhiya (Assam)

2. Chennai (Tamil Nadu)

3. Manali (Himachal Pradesh)

4. Udaipur (Rajasthan)



Question Number : 71 Question Id : 36496350121 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

o feramef g e o o e 1 Feem o —

<53 e & T € T O RS ST 2| T g M 2 € o 4 O 21 99 9% AR A
1 2 0 5 0T AT 2] T Ul A g A e )

TR | ST 2

Options :

REEIER] (TEH)
1. a

=72 (AHATE)
2. 2

5 T (EHT=re 7=m)

TSI (TS
4. 3

Question Number : 72 Question Id : 36496350122 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Your friend remains ill because of weak teeth and bones. Which of the following options is the best

for her to recover?

Options :

1. Rice, Lemon, Amla, Jaggery

2. Ghee, Dal, Roti, Rice

3. Milk, Vegetables, Spinach, Fruits

4. QOil, Eggs, Rice, Roti

Question Number : 72 Question Id : 36496350122 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 36496350123 Question Type

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements about beehives:

A. Every beehive has many queen bee which lay eggs.

B. There are only a few males in the hive.

: MCQ Option Shuffling : Yes

C. Most of the bees in the hive are worker bees who collect nector from the flowers for honey.

D. Without worker-bees there would be neither hive nor any nectar collection.

E. The male bees are very important for the hive as they help in finding the flowers with nectar.

The correct statements are

Options :



1.A,CandE
2.A,B,Cand D
3.B,C,Dand E

4.B,Cand D

Question Number : 73 Question Id : 36496350123 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 36496350124 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Select from the following the characteristics which is found in all the animals given below.



Turtle, Python, Eagle, Lizard, Honeybee
A. Bodies covered with scales

B. Can live on land as well as in water
C. Lay eggs

D. Are poisonous
Options :
1.Aand B
2.Band C
3.Conly
4.Cand D

Question Number : 74 Question Id : 36496350124 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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3. ChddT



4. CHRD

Question Number : 75 Question Id : 36496350125 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements about earthworms:

A. They soften the soil as they keep digging underneath to make tunnels.

B. They eat the dead leaves and plants and their droppings fertilise the soil.

C. They turn the waste into compost.

D. They produce compost which is costlier than the fertilizers made in factories.
E. Spraying chemicals (pesticides) does not affect the earthworms.

The true statements are
Options :

1.A,CandE

2.A,Band D

3.A,Band C

4.A,B,DandE

Question Number : 75 Question Id : 36496350125 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

. A C¥RE

, A,B#RD

; A BIRC

4 A, B,DIRE

Question Number : 76 Question Id : 36496350126 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The child centered nature of Environmental Studies at primary level is due to-
A. activity based learning

B. rote learning

C. textbook based learning

D. involvement of school, home and the community for the learning

Choose the correct option.



Options :

1. A and B only
2. A and Conly
3.ABandC

4. A and D only

Question Number : 76 Question Id : 36496350126 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 36496350127 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The objective of Environmental Studies at primary level is



A. to encourage children to reflect on their own learning.

B. to make children able to solve the environmental problems.

C. to engage children to create new knowledge.

D. to treat children as receiver of a fixed body of knowledge.

Choose the correct option.
Options :

1.A,Band C

2.A,Cand D

3.B,Cand D

4. Cand D only

Question Number : 77 Question Id : 36496350127 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 36496350128 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true in relation to Environmental Studies at primary level?
Options :

1. Environmental studies integrates the concepts and issues of science, social science and
environmental education.

2. Uses only single teaching-learning method for developing creativity.

3. EVS textbooks are the only resource for its learning.

4. It is teaching based.

Question Number : 78 Question Id : 36496350128 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 36496350129 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
Challenge for EVS learning at primary level is
Options:

1. rote learning.

2. memory based level of learning.

3. descriptions of concepts.

4. to give opportunities to children to contruct knowledge for themselves.

Question Number : 79 Question Id : 36496350129 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 36496350130 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What should be maximum in the EVS classroom for children?
A. Provision of debates

B. Experiential learning



C. Stories
D. Facts and informations

Choose the correct option.
Options :

1.Aand B

2.Band C

3.A,Band C

4.B,Cand D

Question Number : 80 Question Id : 36496350130 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 36496350131 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Subtheme in the syllabus of EVS at primary level is
Options :

1. Family and friends

2. Shelter

3. Plants

4. Travel

Question Number : 81 Question Id : 36496350131 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 36496350132 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Meaningful learning of EVS can be given

A. by organizing EVS content thematically.



B. by real dialogues and narratives.
C. by experimentations.
D. by oral assessment of answers given by students.

Choose the correct option.
Options :

1.A,Band D

2.Cand D only
3.B,CandD

4. A, BandC

Question Number : 82 Question Id : 36496350132 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T ow. Fradw dE AT EEAE —
A. 2 F10E, ATt F ST w5 9 e
B. ST TaTE A IATT & R
C. ST % g
D. Ternfe= 1T T30 0 391 1 SR qea i
AR E s T =S I

Options:

, A,B¥RD

, C R DFaA

B,CHRD

3

4 A BIRC



Question Number : 83 Question Id : 36496350133 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In relation to EVS contextualizing means
Options :

1. learning EVS from simple to complex.

2. learning of EVS from known to unknown.
3. learning of EVS through examples.

4. learning EVS contents by relating it to real life situations and immediate environment of the

learners.

Question Number : 83 Question Id : 36496350133 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 36496350134 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Issues of theme "Food" can be meaningful and authentic for the students if



Options :

1. group work and discussions are conducted around the issues.
2. quizzes are conducted.

3. demonstrations are given by teachers.

4. textbooks as resource are involved.

Question Number : 84 Question Id : 36496350134 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 36496350135 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which can be very good resource for EVS learning?
Options :

1. Organisation of field trips

2. School library

3. Twitter

4. Facebook



Question Number : 85 Question Id : 36496350135 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 36496350136 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Issues related to Water Theme can be learnt effectively if
A. role-plays are conducted.

B. real dialogues among children are encouraged.

C. structured field trips are organized.

D. childrens are asked to write an essay.

Choose the correct option.
Options :

1.A,Band C



2.Cand D
3.D only

4. Conly

Question Number : 86 Question Id : 36496350136 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 36496350137 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

EVS textbooks contain real incidents for the learning of EVS because
A. they are rich source of learning.

B. they provide contextual environment for the children.



C. they provide opportunity to revisit familiar earlier events.
D. teachers can conduct teaching-learning process around themes of EVS easily.

Choose the correct option.
Options :

1. D only

2.Bonly

3.Conly

4. A, BandC

Question Number : 87 Question Id : 36496350137 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 36496350138 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Focus of assessment on improvement in learning is
Options :

1. assessment for learning.

2. assessment of learning.

3. assessment as learning.

4. assessment involving formal situations.

Question Number : 88 Question Id : 36496350138 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 36496350139 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Peer- assessment in EVS is

A. assessment as learning.



B. assessment about learning.
C. evaluation of learning outcomes.
D. assessment of learning.

Choose the correct option.
Options:

1. Aonly

2. Conly

3.Aand Conly

4. A, CandD

Question Number : 89 Question Id : 36496350139 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 36496350140 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An EVS teacher, uses an assessment tool that collects not just the best but all kinds of a child's

work or activities done over a period of time. Teacher is using
Options :

1. Rubries

2. Portfolio

3. Anecdotal record

4. Observation sheet

Question Number : 90 Question Id : 36496350140 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Language I

SectionId : 3649631606



Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17

Number of Questions to be attempted : 17

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 3649632906
Question Shuffling Allowed : Yes

Question Id : 36496350141 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Read the passage given below and answer the questions by
choosing the correct/most appropriate options.

1. The world faces an energy crisis today — but within the
folds of this crisis lies a deeper challenges. Millions of
people globally struggle with energy poverty, defined
by the World Economic Forum as the lack of access to
sustainable modern energy services and products.
The World Bank estimates that 759 million people live
without access to basic electricity — UNCTAD finds
over half the people in the world’s least developed
countries (LDCs) have no access to electricity while
three billion people lack clean cooking fuels and
technologies. Such privation defines an individual's
energy inequity. This also reflects at a global scale with
rich countries enjoying relative energy affluence —
Americans, for instance, used 79,897 kilowatt-hours
(kWh) of energy per capita in 2019 as compared to
China at 27,452 kWh, India at 6,924 kWh, Ethiopia at
777, Somalia at 244 and Chad accessing just 98 kWh.

2. Such energy inequity has profound implications for
sustainability. Energy is the keystone humans need to
achieve their potential through education and
economic productivity. Steady energy availability

shores up essential social services including life-
saving healthcare. Moreover, energy inequality spins
out cycles of poverty — the UN finds worldwide, women
pay the heaviest price for energy poverty, spending
several hours daily gathering firewood, collecting water
and doing hard chores manually. Women's lack of
access to time-saving energy systems weakness their
education and employment opportunities, keeping
them endemically deprived. It is clear why access to
affordable, inclusive and clean energy is the UN’s
Sustainable Development Goal (SDG) 7. However, for
many, this remains a poignant dream — the World Bank
finds the Covid-19 pandemic’s harsh impacts have
made basic electricity unaffordable for 30 million more
people.

3. Energy inequality limits the lives, livelihood and
fulfilments of millions of people. As the world moves
towards a transition with renewable, it must also ensure
energy equality for those who've never had it.

Sub questions

Question Number : 91 Question Id : 36496350142 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The term energy poverty refers to

Y

. high cost of energy services.

2. huge gap between demand for and supply of
energy.

3. inadequate supply of energy to millions of
people.

4. lack of access to modern energy services and

products.

Options:
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 36496350143 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to the author, availability of regular energy

. ensures essential services to the people.

. is essential for fast industrial progress.

. is @ must for improvement in living standards.
. is a boon for education.

B WN =

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 36496350144 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is not true according to the
passage?

1. Energy poverty forces women to spend hours
collecting firewood.

2. It weakness their education and employment
activities

3. It forces them to do hard chores manually.

4. Extremely hard work affects their health
adversely.

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 36496350145 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
According to the World Bank, Covid -19 pandemic

1. put brakes on fast paced industrial development.

2. made basic electricity unaffordable for millions of
people.

3. resulted in huge loss of livelihoods.

4. took a heavy toll on human lives, killing more
than 33 million people.

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 36496350146 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Select the correct option.

1. In 2019 India used more per captia energy than
China.

2. China used less per capita energy than both
India and Somalia

3. America used less per capita energy than China

4. Ethiopia used less per capita energy than
Somalia

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 36496350147 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words is similar in meaning to
the word, ‘privation’ as used in para 1 of the passage?

1. compulsion
2. hardship
3. handicap
4. prevention

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 36496350148 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following words is most opposite in
meaning to the word, ‘Steady’ in para 2 of the
passage?

1. Different
2. Poor

3. Uncertain
4. Irregular

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 36496350149 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of speech is the underlined word in the
following sentence?

We must ensure energy equity for those who've never
had it.

1. Conjunction
2. Adverb

3. Adjective
4. Noun

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 36496350150 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which part of the following sentence contains an
error?

He got fed of with all the travelling he had to do.
(a) (b) (c) (d)

o D

—— e —
W

e g —

o

Options :
1.1
2.2
3.3
4.4

Question Id : 36496350141 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Read the passage given below and answer the questions by
choosing the correct/most appropriate options.

1. The world faces an energy crisis today — but within the
folds of this crisis lies a deeper challenges. Millions of
people globally struggle with energy poverty, defined
by the World Economic Forum as the lack of access to
sustainable modern energy services and products.
The World Bank estimates that 759 million people live
without access to basic electricity — UNCTAD finds
over half the people in the world’s least developed
countries (LDCs) have no access to electricity while
three billion people lack clean cooking fuels and
technologies. Such privation defines an individual's
energy inequity. This also reflects at a global scale with
rich countries enjoying relative energy affluence —
Americans, for instance, used 79,897 kilowatt-hours
(kWh) of energy per capita in 2019 as compared to
China at 27,452 kWh, India at 6,924 kWh, Ethiopia at
777, Somalia at 244 and Chad accessing just 98 kWh.

2. Such energy inequity has profound implications for
sustainability. Energy is the keystone humans need to
achieve their potential through education and
economic productivity. Steady energy availability

shores up essential social services including life-
saving healthcare. Moreover, energy inequality spins
out cycles of poverty — the UN finds worldwide, women
pay the heaviest price for energy poverty, spending
several hours daily gathering firewood, collecting water
and doing hard chores manually. Women's lack of
access to time-saving energy systems weakness their
education and employment opportunities, keeping
them endemically deprived. It is clear why access to
affordable, inclusive and clean energy is the UN’s
Sustainable Development Goal (SDG) 7. However, for
many, this remains a poignant dream — the World Bank
finds the Covid-19 pandemic’s harsh impacts have
made basic electricity unaffordable for 30 million more
people.

3. Energy inequality limits the lives, livelihood and
fulfilments of millions of people. As the world moves
towards a transition with renewable, it must also ensure
energy equality for those who've never had it.

Sub questions

Question Number : 91 Question Id : 36496350142 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The term energy poverty refers to

Y

. high cost of energy services.

2. huge gap between demand for and supply of
energy.

3. inadequate supply of energy to millions of
people.

4. lack of access to modern energy services and

products.

Options:
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 36496350143 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to the author, availability of regular energy

. ensures essential services to the people.

. is essential for fast industrial progress.

. is @ must for improvement in living standards.
. is a boon for education.

B WN =

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 36496350144 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is not true according to the
passage?

1. Energy poverty forces women to spend hours
collecting firewood.

2. It weakness their education and employment
activities

3. It forces them to do hard chores manually.

4. Extremely hard work affects their health
adversely.

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 36496350145 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
According to the World Bank, Covid -19 pandemic

1. put brakes on fast paced industrial development.

2. made basic electricity unaffordable for millions of
people.

3. resulted in huge loss of livelihoods.

4. took a heavy toll on human lives, killing more
than 33 million people.

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 36496350146 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Select the correct option.

1. In 2019 India used more per captia energy than
China.

2. China used less per capita energy than both
India and Somalia

3. America used less per capita energy than China

4. Ethiopia used less per capita energy than
Somalia

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 36496350147 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words is similar in meaning to
the word, ‘privation’ as used in para 1 of the passage?

1. compulsion
2. hardship
3. handicap
4. prevention

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 36496350148 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following words is most opposite in
meaning to the word, ‘Steady’ in para 2 of the
passage?

1. Different
2. Poor

3. Uncertain
4. Irregular

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 36496350149 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of speech is the underlined word in the
following sentence?

We must ensure energy equity for those who've never
had it.

1. Conjunction
2. Adverb

3. Adjective
4. Noun

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 36496350150 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which part of the following sentence contains an
error?

He got fed of with all the travelling he had to do.
(a) (b) (c) (d)

o D

—— e —
W

e g —

o

Options :
1.1
2.2
3.3

4.4

Sub-Section Number : 2

Sub-Section Id : 3649632907

Question Shuffling Allowed : Yes

Question Id : 36496350151 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



Read the following poem and answer the questions by choosing
the correct/most appropriate options.

Life has loveliness to sell,

All beautiful and splendid things,
Blue waves whitened on a cliff,
Soaring fire, that sways and sings,
And children’s faces looking up
Holding wonder in a cup.

Life has loveliness to sell,

Music like a curve of gold,

Scent of pine trees in the rain,

Eyes that love you and arms that hold,
And for your spirit's still delight,

Holy thoughts that star the night.

Spend all you have for loveliness,
Buy it and never count the cost;

For one white singing hour of peace
Count many a year of strife well lost,
And for a breath of ecstasy

Give all year have, or could be.

Sub questions

Question Number : 100 Question Id : 36496350152 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The lovely and splendid things life has to sell

. can be had for free.

. appeal equally to all age groups
. are very expensive

. are not easily found

Ju IS =

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 36496350153 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following things don't have a sensuous
appeal?

1. Blue waves crashing against a cliff
2. Soaring fire that sways and sings
3. Holy thoughts

4. Scant of pine trees

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 36496350154 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

How do holy thoughts impact us according to the
poet?

1. They lift us above mundane concerns.

2. They fill our soul with delight

3. They help us understand the true meaning of life
4. They help us curb our wild desires

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 36496350155 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Why is ‘a breath of ecstasy’ so precious?

1. It is the ultimate aim of our life.
2. It can transform us spiritually.

3. It can help us experience bliss.
4. It makes us calm and contented.

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 36496350156 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

|dentify and name the figure of speech used in ‘Music
like a curve of gold'. (Stanza 2)

1. Metaphor

2. Personification

3. Alliteration

4. Simile

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 36496350157 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

|dentify and name the figure of speech used in the
line, ‘Swaying fire that sways and sings’. (Stanzal)

1. Metaphor

2. Personification
3. Synecdoche
4. Simile



Options :
1.1
2.2
3.3
4.4

Question Id : 36496350151 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Read the following poem and answer the questions by choosing
the correct/most appropriate options.

Life has loveliness to sell,

All beautiful and splendid things,
Blue waves whitened on a cliff,
Soaring fire, that sways and sings,
And children’s faces looking up
Holding wonder in a cup.

Life has loveliness to sell,

Music like a curve of gold,

Scent of pine trees in the rain,

Eyes that love you and arms that hold,
And for your spirit’s still delight,

Holy thoughts that star the night.

Spend all you have for loveliness,
Buy it and never count the cost;

For one white singing hour of peace
Count many a year of strife well lost,
And for a breath of ecstasy

Give all year have, or could be.

Sub questions

Question Number : 100 Question Id : 36496350152 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The lovely and splendid things life has to sell

can be had for free.
. appeal equally to all age groups
. are very expensive
. are not easily found

.b.mm_—t

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 36496350153 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following things don't have a sensuous
appeal?

1. Blue waves crashing against a cliff
2. Soaring fire that sways and sings
3. Holy thoughts

4. Scant of pine trees

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 36496350154 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



How do holy thoughts impact us according to the
poet?

1. They lift us above mundane concerns.

2. They fill our soul with delight

3. They help us understand the true meaning of life
4. They help us curb our wild desires

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 36496350155 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Why is ‘a breath of ecstasy’ so precious?

1. It is the ultimate aim of our life.
2. It can transform us spiritually.

3. It can help us experience bliss.
4. It makes us calm and contented.

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 36496350156 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

|dentify and name the figure of speech used in ‘Music
like a curve of gold'. (Stanza 2)

1. Metaphor

2. Personification

3. Alliteration

4. Simile



Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 36496350157 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

|dentify and name the figure of speech used in the
line, ‘Swaying fire that sways and sings'. (Stanza1l)

1. Metaphor

2. Personification
3. Synecdoche
4. Simile

Options :
1.1
2.2
3.3
4.4

Sub-Section Number : 3

Sub-Section Id : 3649632908

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 36496350158 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A leamer in a village in the state of Jharkhand knows her mother tongue and Hindi, the language of home
and in her neighbourhood. She leams English in school. Which of the languages come under language
acquisition and which of the languages come under language leaming?

|, Mother tongue and Hindi come under language acquisition

Il English comes under language leaming
lIl. Hindi comes under language learning
V. All the three languages come under language acquisition

1.i&iiaretrue
2. il & v are frue
J.i&varetrue
4. v&iiaretrue

Options :
1.1
2.2
3.3

4.4

Question Number : 106 Question Id : 36496350158 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A leamner in a village in the state of Jharkhand knows her mother tongue and Hindi, the language of home
and in her neighbourhood. She leams English in school. Which of the languages come under language
acquisition and which of the languages come under language leaming?

|, Mother tongue and Hindi come under language acquisition

Il English comes under language leaming
lIl. Hindi comes under language learning
V. All the three languages come under language acquisition

1.i&iiare true

2. il & v are frue
3.1&ivaretrue
4 w&iiaretrue

Options :
1.1
2.2
3.3

4.4



Question Number : 107 Question Id : 36496350159 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following represents the typical pedagogical sequence to teach students how to write?
|. get students to write letters with straight lines and curves

|I. get students to draw a number of specific shapes

lIl. get students to read aloud and write letters multiple times

(AR
2111
3L
4. 11,111, 1

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 36496350159 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following represents the typical pedagogical sequence to teach students how to write?
|. get students to write letters with straight lines and curves

Il. get students to draw a number of specific shapes

[Il. get students to read aloud and write letters multiple times

(AR
2111
3L
4. 11111, 1

Options :
1.1
2.2
3.3
4.4



Question Number : 108 Question Id : 36496350160 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A'word wall' is a set of words written or printed in a large font and pasted on a classroom wall in a visible
manner,

Which of these literacy concepts or skills CANNOT be taught using a word wall?

1. Awareness of spelling pattems.
2. Pronunciation of difficult words.
3. Understanding phonics rules

4, Understanding root words.

Options:
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 36496350160 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A'word wall' is a set of words written or printed in a large font and pasted on a classroom wall in a visible
manner,

Which of these literacy concepts or skills CANNOT be taught using a word wall?

1. Awareness of spelling patterns.
2. Pronunciation of difficult words.
3. Understanding phonics rules

4. Understanding root words.

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 36496350161 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

After infroducing "tense forms” to grade 5 students, a teacher set up a pair activity:

Student A takes a piece of text in simple present tense from a book and conveys it to Student B in past
fense. Student B fries to guess what the present tense would have heen. Student A modifies his conversion
from present to past tense if needed, repeatedly, till Student B guesses correctly.

The above activity MOST closely represents...

1. Krashen's Input hypothesis

2. Swain's Qutput hypothesis

3. Bruner's theory of development

4. Krashen's Acquisition-Learning hypothesis

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 36496350161 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

After introducing "tense forms" to grade 5 students, a teacher set up a pair activity:

Student A takes a piece of text in simple present tense from a book and conveys it to Student B in past
tense. Student B tries to quess what the present tense would have been. Student A modifies his conversion
from present to past tense if needed, repeatedly, till Student B guesses correctly.

The above activity MOST closely represents...

1. Krashen's Input hypothesis

2. Swain's Qutput hypothesis

3. Bruner's theory of development

4. Krashen's Acquisition-Learning hypothesis

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 36496350162 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher conducts a pair work activity in class IV and asks Student A to be the waiter and Student B the
customer, and asks each pair to carry out a conversation.
This activity provides the LEAST opportunity to improve...

1. clarity of expression
2. active listening

3. sentence construction
4. vocabulary

Options :
1.1
2.2
3.3

4.4

Question Number : 110 Question Id : 36496350162 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher conducts a pair work activity in class IV and asks Student A to be the waiter and Student B the
customer, and asks each pair to carry out a conversation.
This activity provides the LEAST opportunity to improve...

1. clarity of expression
2. active listening

3. sentence construction
4. vocabulary

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 36496350163 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of these would be the MOST apt to teach 'visualisation' to students?

1. What location do you think this story took place in?

2. Look at the image given in the text and tell me what you see.
3. How does the author describe the dog's character?

4. Imagine and write an alternative version of the last scene.

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 36496350163 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of these would be the MOST apt to teach 'visualisation' to students?

1. What location do you think this story took place in?

2. Look at the image given in the text and tell me what you see.
3. How does the author describe the dog's character?

4. Imagine and write an alternative version of the last scene.

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 36496350164 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following will be the MOST appropriate exercise for a teacher to develop ‘inference making' in
students after reading a story?

1. What place have you been to that is similar to the one in the story?

2. Which person you know is likely to react in the same way as the character in the story?
3. Pick an imagery in the story and use it in a sentence of your own.

4. Watch this video based on the story we read and describe the setting in your own words.

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 36496350164 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following will be the MOST appropriate exercise for a teacher to develop 'inference making' in
students after reading a story?

1. What place have you been to that is similar to the one In the story?

2. Which person you know is likely to react in the same way as the character in the story?
3. Pick an imagery in the story and use it in a sentence of your own.

4, Watch this video based on the story we read and describe the setting in your own words.

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 36496350165 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following exercises is NOT an example of a teacher using 'scaffolding?

1. Ask students to listen to a podcast and share two new words they leamt through it.

2. Give students a short poem to read, with meanings of difficult words provided at the beginning of the
passage.

3. Ask students several simple questions orally and then summarise these to answer one big question.

4. Provide a list of topics starters a student can speak 2 minutes on with prompts on the areas to be
covered.

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 36496350165 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following exercises is NOT an example of a teacher using 'scaffolding'?

1. Ask students o listen to a podcast and share two new words they leamt through it.

2. Give students a short poem to read, with meanings of difficult words provided at the beginning of the
passage.

3. Ask students several simple questions orally and then summarise these to answer one big question.

4. Provide a list of topics starters a student can speak 2 minutes on with prompts on the areas to be
covered.

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 36496350166 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of these follows the 'deductive method' to teach 'prepositions' to students?

1. Explain the rules of using prepositions and give examples

2. Give several examples of prepositions and ask students to derive the rules.

3. Explain the rules of using prepositions while teaching a prose.

4. Giving sentences, ask students to identify words that are NOT nouns, pronouns, verbs or adjectives.

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 36496350166 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of these follows the 'deductive method' to teach 'prepositions' to students?

1. Explain the rules of using prepositions and give examples

2. Give several examples of prepositions and ask students to derive the rules.

3. Explain the rules of using prepositions while teaching a prose.

4. Giving sentences, ask students to identify words that are NOT nouns, pronouns, verbs or adjectives.

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 36496350167 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



All children in India ideally begun their schooling in their mother tongue or home language and move on
study two or more languages in high school. What is this language - in - education strategy known as?

1. Mother tongue based multi lingualism
2. Language education policy

3. Official education policy

4. Multi lingualism policy for education

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 36496350167 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

All children in India ideally begun their schooling in their mother tongue or home language and move on
study two or more languages in high school. What is this language - in - education strategy known as?

1. Mother tongue based multi lingualism
2. Language education policy

3. Official education policy

4. Multi lingualism policy for education

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 36496350168 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



for children is considered as an authentic source of reading.

1. Letters

2. Text books
3. Literature
4. Dictation

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 36496350168 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

for children is considered as an authentic source of reading.

1. Letters

2. Text books
3. Literature
4. Dictation

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 36496350169 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is most effective assessment tool for language leaming?

1. Written test
2. Dictation

3. Assignment
4. Observation



Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 36496350169 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is most effective assessment tool for language learning?

1. Written test
2. Dictation

3. Assignment
4. Observation

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 36496350170 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A common feature of teaching English is the use of "authentic texts".
Which of the following best fulfils the purpose of authentic texts?

1. Arules sheet for phonics

2. Afood menu at a local restaurant.

3. A two minute video that you recorded on your phone.
4. A Japanese story translated into English by the teacher

Options :
1.1
2.2

3.3



4.4

Question Number : 118 Question Id : 36496350170 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A common feature of teaching English is the use of "authentic texts".
Which of the following best fulfils the purpose of authentic texts?

1. Arules sheet for phonics

2. Afood menu at a local restaurant.

3. A two minute video that you recorded on your phone.
4. A Japanese story translated into English by the teacher

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 36496350171 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following online tools would be the BEST suited to help students understand the structure of
complex plots?

1. Arewording program converting complex words to simpler ones.

2. Alevelled-reading program converting text into different reading levels.

3. Amind-mapping program where thoughts and ideas are split into components.
4. Agamification program that awards coins for reading and answering questions.

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 36496350171 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following online tools would be the BEST suited to help students understand the structure of
complex plots?

1. Arewording program converting complex words to simpler ones.

2. Alevelled-reading program converting text into different reading levels.

3. Amind-mapping program where thoughts and ideas are split into components.
4. Agamification program that awards coins for reading and answering questions.

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 36496350172 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A student wrote a paragraph on New Year's celebrations:

For New Year's day my family and | invited our friends for midnight count down. On new year's eve we went
to the cake shop to order cake. we also hought decorations drinks, other snacks for party. My parents blew
the balloons and i helped decorate the house. our friends came over after dinner and we played till mid night.
What step of paragraph writing should you ask the student to MOST focus on now?

Options:
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 36496350172 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

A student wrote a paragraph on New Year's celebrations:

For New Year's day my family and | invited our friends for midnight count down. On new year's eve we went
to the cake shop to order cake. we also bought decorations drinks, other snacks for party. My parents blew
the balloons and i helped decorate the house. our friends came over after dinner and we played till mid night.
What step of paragraph writing should you ask the student to MOST focus on now?

1. |deating

2. Structuring

3. Drafting

4. Editing
Options :
1.1
2.2
3.3
4.4

Language II

SectionId: 3649631607
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 3649632909
Question Shuffling Allowed : Yes

Question Id : 36496350173 Question Type : COMPREHENSION Sub Question Shuffling Allowed



: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 36496350174 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4



Question Number : 122 Question Id : 36496350175 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: %ﬂ%“wﬁ 9 SRHET AT H::hl

3, TSIEeF STTIR O S%eraT OTH T ST E|
4. T 3u= 9uTS %ﬁ-’,ﬁﬁf&m ET-H;hi

—

[-J

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 36496350176 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 36496350177 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 36496350178 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 36496350179 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 36496350180 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 36496350181 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Id : 36496350173 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension
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Question Number : 121 Question Id : 36496350174 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 36496350175 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 36496350176 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 36496350177 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
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Question Number : 125 Question Id : 36496350178 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 36496350179 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 36496350180 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 36496350181 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4
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Question Shuffling Allowed : Yes
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Question Number : 129 Question Id : 36496350183 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 36496350184 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 36496350185 Question Type : MCQ Option Shuffling : No
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Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 36496350188 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 36496350189 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Id : 36496350182 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension
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Question Number : 129 Question Id : 36496350183 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 130 Question Id : 36496350184 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0
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Question Number : 132 Question Id : 36496350186 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 36496350188 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 135 Question Id : 36496350189 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 36496350191 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 36496350192 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 36496350192 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 36496350193 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 36496350193 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 36496350194 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T 1 T TEH /R TR 0 1 A o T 9579 FIA- 2
1. TerTiea 61 7% T % ST 0 1 T 5 e |

. Tt w1 e % ot e @ it e

. ol ST e Sl -3 3 19T e e

3
4, %Wﬁﬁq ﬁnwﬁ%wﬁ%mﬁﬁﬁmﬁaﬁtaﬁ%wgﬁmmmda"%rw-ut

]

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 36496350194 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 36496350195 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
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Question Number : 141 Question Id : 36496350195 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 142 Question Id : 36496350196 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 36496350196 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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2.2
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Question Number : 143 Question Id : 36496350197 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 36496350197 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 36496350198 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

ReATeAign o ¥ i1 FTEUTRTFA 3 e ey TR 3 T, e A JUT 31 Sl o 27
| o ST % RN % W T TR T W

. T % T 6T ST Y AT T T 3 W A N o O e F

3. Tore R % T T O S A 0 B, 5 T 1 A T

4, Wt Torg U HaTe SR e o T o T o T 2, 3 s W e UE|

[ ]

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 36496350198 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 36496350199 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 145 Question Id : 36496350199 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 146 Question Id : 36496350200 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
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Question Number : 146 Question Id : 36496350200 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 147 Question Id : 36496350201 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 36496350201 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
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Question Number : 148 Question Id : 36496350202 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 148 Question Id : 36496350202 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 149 Question Id : 36496350203 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 149 Question Id : 36496350203 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 150 Question Id : 36496350204 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 150 Question Id : 36496350204 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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